Scomposizione di polinomi

Periodo 2 - UdA 7

Scomporre 1 seguenti polinomi
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122 + 15 — 322
—247% — 202> — 4
A0 4 42
—5 4 202
—® 4+ 1
3zt — 12 — 922
—812Y + 22
29 4+ 1622 — 8z*
7% + 122 + 36
8x3 4 92
20z + 225 + 1422
—o7x* + 182 — 320
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20 5t — 4a?
—1823 — 827
201 — 222 — 50
32 — 274
— 18z + 8z°
3zt + 20 — 1827
162° +x
5x — 10
— 2525 + 9z
— 8z + 1° + 1627
—3 — 3% — 627
— 1523 4+ 1222
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—(z—=1)(z+1) (2 +1) (z* + 1)

SOLUZIONI

Scomposizione di polinomi
—3(x—=5)(x+1)
—4z% (x4 3) ( + 2)
Az? (2 + 1)
522 — 1) (22 4+ 1)

3(2?+1) (x —2) (x+2)
—2? (3z — 1) (3z + 1) (927 + 1)
2 (x —2)" (z +2)°
(x +6)
73 (97 + 8)
2z (x +2) (z + 5)
3zt (z — 3)°
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Periodo 2 - UdA 7
—2?(zr—1)(x+1)(x —2)(z+2)
—227 (42 + 9)
—2(x +5)
—2(x —2) (z +2) (¢* +4)
2z (2 — 3) (2x + 3)
23 (x4 6) (z — 3)
x (162* + 1)
5(x —2)
—x (bz — 3) (hz + 3)
2 (x —4)
—3 (a:'2 + 1)2
—3z* (bx — 4)



